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1S=0 ' EH=1,8E6
NI=1 m, = 1000
Z,=H I=0

K= 0 I=0
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WHE, uR=90, uH=6,5, uG=1350
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Z
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1,23
1,84
2,46
3,87
3.69
4,30
4,92
5.53
6.15
6.76
7,38
7.99
8.61
9.22

- 9,84

Max Moment
Positton ZH=1,23

Displaoment

Rolatton

MAx Eartn Pressnr QQ=1,78
Posiition ZQ=1,84

M Q
68,47 0,00
70.51 0,90
71.69 1,53
71,52 1.78
69.76 1,78
66.40 1,68
61.60 1,32
55,61 0,99
48,72 0.66
41,24 0.36
33.42 0,13
25,48 -0.83
17.55 -0,11

9.71 -0.12

1,98 -0,09
-5.69 -0.03
-13,33 -0.01

MM=171,69
¥,=0,00194
x4=0,01993

QO =-0,00063
QA=-0,0017

£

RS .
DG=0,022 siggel Number NN=16
Compresion stress xy~270,0173699
Steel Ssress IG=487.5;§04{888
Steel Break ZN= 7 Yy

S.FHER. . :
Z M, T-M) G 2X (D)
0 68.48 (0

0.616 70,50 1.19
1.23 71,61, 1,89
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3.08 64,91 1,96
4,31 53.32 €.84
5.54 21.98 -0.49
8.00 9,17 -1,41

BAREBHETL 61T MU R E: Z=
123MEE 5. SRf12422

4. ERITLL 5 47

HTRF B REEE AR
BRY, FRITEERNFHGERES
MRBLWA I BEZER, BEHMRHRS
R—H. B, BF PR,
Frh BB, AT A K.



>3

L

1. ¢

10;

20:

21s

23

25;
80r
40:
45,
50,
55,
60!
80

85;
867
90:
110,

120;

130;

135;

1‘3 7: .

140,
150,

+ “A”; CLS; CLEAR

INPUT “PA="s PA,“LZ=";
LZ, ac:",’, C
INPUT “N=”} N, “:L]_-: ”’.; IL}_

, “LZ=7"; L2, “Di=7"; DI,
“D2="y D2, “D3="y D3y “I0O
.;,79! IO

INPUT “RM="; RM, “RH=7;
RH, “R2=7; R2

IF 1I0=1INPUT “H="; H.
'GOTO 284

IF INT (C/10)<<>0THEN 135
DIM R(4)"

FOR I1=0TO 4

WAIT 0

PRINT “R(”s I; %) =7y
INPUT R(I): CLS

NEXT 1

PO=PA +7/45(D12D1sLT#RM +
D24D2¢L2#RH)

IF C=01THEN LET BB = .675;
GOTO 90

BB=1.575

A =312D2sD2/4
Al=m#(D2+D3)sR(0)/2; AZ =
R(1)sR(2)s7=D2sD2/4

"A3=A2#R(3): A=AsRH/2: A4

= A2+¢R(4)=R2

H=1INT ((A3—3%A4—- PO+ Ads
LZ)/ (A= A1-A4)+.,9; GOTO
270 - :

INPUT “RC=7"3 RC, “HC="s
HC,” “LC="s LG
A=neD2#D2/4; H=HC+LC

IF INT (C/10)=1THEN 180
1F C=20INEN LET Cl= .48:

160,

170,
180;

190:
200,

205¢
210:
215;

220y
230;
240,

250:
260,
270,
275,

283:
284.
285

286:

288;
290;

300:

310;
320;

Ay B

Cz=.04; BB=0.9; GOTO 180
IF C=21THEN LET Cl=.4;
C2=.03; BB=0.7: GOTO 180
C1=.32: C2=.02: BB=.5
PC= (CizA + C2#m+D24LC)2RC

: GOTO 215

IF C=10THEN LET Cl1= .3;
GOTO 210

IF C=1iTHEN LET Cl=.45;
GOTO 210

Cl=.4

PC=C14RC=A

PO'= PA +n/4» (D1#D1 #L1#RM +
D2:D2s(L2 +1.7)aRH)

PN = Po+#+D2#D2%(H+LC)»RH/4
IF PC<PNTHEN 250
LPRINT ¢

GOTO 270

WAIT: PRINT “PC<PN”
INPUT “D2=7; D2: GOTO 80
CSIZE 1

LPRINT TAB 9; “§## H=",
“pE?s Hy “M”; LF 2

INPUT “PA=7; PA
HM=2#(D2+1): Z=0; M=0
IF HM>HTHEN LET HM=H
INPUT “HA =7y HA, “MA="

PC>PN”,;

-3 MA,"“IS="y IS

INPUT “EH="; EH
WAIT 0; PRINT “hm=";
HM,
INPUT “-
WAILT
FOR 1=1TO NI

WAIT 0, PRINT “m”; I

& __»

NI=7"; NI. CLS:

;l

—g—



325; INPUT MI1. CLS

330: PRINT “Z7; I3 “=7

335; INPUT ZI: CLS

340, M=M+MI*ZI: Z=Z+2ZI

345; NEXT I

350; M=M/Z

355: IF D2« =1THEN LET B1=.9
#(1.,5#D2+ .5); GOTO 370

360 B1=,9%(D2+ 1) P

370, IH=n2D2r4/64 ‘

380: SR='((M=BLl)/(EH*IH))A(1/5).

390; ZS=S8SR#H; K2=1

400: IF ZS<2.5THEN BEEP 5, 50:
LPRINT 2222: END

410: IF ZS>4THEN LET U=4,
Vi=U,; GOTO 425

420, U=INT (ZS#10)/10; V1=T,

425, DIM AD(18), K2(30)

426; FOK TK=1TO 30

427 K2=K2%IK

428; K2(IK)=X2 "

429, NEXT 1K

430; GOSUB 3000

440; :BEEP 2, 25. INPUT “J=7y «

T, “K=" Ky “I=7" I, %12="
12, “hT=¢; HT PR
445; P8=PA; H8=HA,; M8=MA
450y IFI=11THEN 650 . '« .,
460: IF K=1THEN 470 MO
462; IF I=0THEN LETEA=1;
GOTO. 465 - e
463:¢ INPUT “T1="; T1r . * . ¢
464: GOSUB 3400 0t '
465y PO= P8 + w/d»(D1#D1eL1sRMHI
D2«D2#(L2 + LZ)#RH)* .°

i

T3

"
v

466; HO=H8 +P5, M0 = (M8 -4+-H8# (L

. 1R L2 + TZ))AMS+{P0 ~7eD2%
D2/4#RH#»(L2 + LZ))=IS."

—10—

<

_GOTO 700

S

v+ 47¢;  INPUT “R="s R,“Q="; Q, “B

=" B,“Y="; Y, “DDD=7"; D

480; IF 12=1THEN 560

485: IF I=1THEN 550

490, EA=1

493; T9=EA=(R#B*+TAN (45— Q/2)A2
)#(Y~L1-12-~HT)/N

494, TT=FEA#(R#BsTAN (45-Q/2)a
2)/N=(Y~L1-L2)

495; T1=EA#(R#D1%(Y-L1~L2)»

. (TAN (45-Q/2))A2)

500; T2=EA#(R*2+«D1s(TAN (45~

T Q/2))A2#(Y ~L2))

505; T3=EA=(R#2*D2#(TAN (45-Q

/2))Ar28(Y~12))

510: T4=EA*(R#*2«D2#(TAN (45-Q
/2))72%Y)

515: T5=EAsR*2sD1+(TAN (45-Q/2
)IA2¢Y

520; HO=H8+ (TT+T9)+HT/2+ ((T
1+T2)/2#L1+(T3+T4)/2%L2)»
D/2+HC+PS+T9/2% (Y~-L1~
L2~HT)

530; MO=MS8 + H8#(L1+L2+LZ) +(T
T+ T9)e«HT/2#(L1+ L2+ LZ + (2
#T9+TT)/(TT +T9)«HT/3)

532; MO=MO+T9#(Y-L1-12~-HT)

e [2%((Y-L1~L2-HT) /3+L1
+1L2+HT+LZ)

-533; IF D1=0THEN 540 .| .1

.535; M0O=MO% ((T1+ T2)/2#¢(2%#T1
+T2)/((T1+T2)#3)+«L1 L2+

D LZYeL1)eD/2:-70 v L
540; MO =MO0 + ((T8 +TH)7/2£((( 2#T3
) +T4)/CCT3 T4)#3)»L2)) £ LZ»
LIN2)sD/2 . T DU
545y MO =MO0 +MS+MC: .GOTO 700;

&



550;
555
560:

570.
580.

590.
600:
610;
620,

630
640;

650:
660.
665:

666:
670,

GOSUDR 3400 : .
GOTO 495

Yi= ~TAN (3+Q/2) ¥+ (
TAN (3%Q/2) = (1/TAN Q+

TAN(3%Q/2)))

1L.O0=Y«sY1l: BEEP 5, 25

WATT 0: PRINT “LO#B=7;
LO; “s7; “B”; 2
INPUT G=

7, G: WAIT:
Y0 = G/(B«LO#R) :
T0=ReY0# (TAN (45—Q/2))a2
E1=ToxE+HT/N; E2=TO0#2xD1,
¢l.1; E3=TO0x2+#D2=12
HC=E{+E2+E3
MC=E1#(HT/2+L1+124+1LZ) +
E2# (L1/2+12+LZ) +E3%(L2/2
+1.7Z): GOTO 485 -
IF T=1THEN GOSUB 3400
GOSUB 30600

IF Di=0THEN LET Nj=1 :
GOTO 670

NJ = (D2/D1)r4

QH = U3/U5.+ U4/U5#SR *(Ll +
L2+LZ) + (L1 +L2+LZ) A2%SRa~

-2/2+ (SR#L,1)A3/3%(NT = 1)

680:

685
690 ¢

700
7054

706:
710,

715y

QM = U4/U5 + (L1 + L2+ LZ)*SR
o SR#L1#(NJ— 1)

M8 = — H8/SR«QH/QM

HO =18+ PS: Mo=M8+H8=(L1
+ L2+ LZ) +MS

X0 = HOwHIT +MO+HM,
HoaMH + M0=MM)

IF D1=0THEN LET NJ=1.
GOTO 710

NJ=(D2/Di1)y~4
J1=H8+((L1+L2+LZ}A3 + Ll/\
3#(NJ - 1))/ (3+«EH*IH? _
J2=M8»((L1+L2+LZ)»2+L1A

Qo= -(

-

. 2¢(NJ-1))/(2+EH+IH)
720: J3= (11%(T1+TO0) + 4=(T5+T0))
#(L1+L2+LZ)r4/(120sEHs1H)
730: J4=(11#(T1+TO0) + 4=(T2+T0 )
YeL1a4%(NT -~ 1)/(120«EHsTH )
735 IF L2=0AND LZ=0THEN
GOTO 750 \
740; J5= (T4~ T2)»(L2+LZ)r42( 48(
L1+1L2+LZ)/(L2+LZ)-1)/(24

~ " #EH=2IH) -

Il

750 XA =X0- QO*(L1+L2+LZ)+11
+J2473+T4+75

760 Ql=H8#»((L1+L2+LZ)A2+ 1%
L1#(NJ-1))/(2+EH*IH)

765: Q2=M8»((L1+L2+1LZ)+ Li1#)
NT-1))/(EH=*IH) .

770: Q3= (3%(T1+T0) +T3+T0 )a(L
1+L2+LZ)A3/(24%EHsI1H) .

775: Q4=(3*(T1+T0)+T2+TO0 )+L1
A32(NT—-1)/(24+«EH*IH)

780: Q5=(T4-T5)* (L2+LZ) A3/(6#
EH#»IH) '

790; QA=Q0~-Q1-Q2-Q3~Q4~Q5

795; DIM MY(INT ((U*10)/2+1)),
QY(INT ((U#10)/2+1))

796: V2=SR#SR+EHsI1H

805; V1=V/10
810, GOSUB 3000

820: MY(V/2)=V2#( XO*AD (9 )+

Q0»AD(10)/SR+M0*AD(11)/V2
. +HO0*AD(12)/(V2#SR))
830y QY (V/2) =M*V1~(X0#AD (1) +
Q0#AD(2)/SR + M0#AD (3)/V2
+H0+AD(4)/V2/SR)/SR
840:-IF MY (V/2)>MATHEN LET
MA =MY(V/2): ZH=V/( 10%
. SR)

==



845:

850;
855;.

856:
860
865:
870:
880,

890,
900,

910

920,

‘940,
950;
‘960,

965;
970,
975,
977,

978;

IF QY (V/2)>QQTHEN LET

QQ=QY¥(V/2)s ZQ=V1/SR

NEXT WV

IF INT (C/10Y<<>2THEN

GOTO 865

H9=/""ABS (MY ((V-1)/2)

/(.066¥BBxRC=D2)).

IF H9>LCTHEN PRINT “CCC

C”s GOTO 135

LPRINT TAB 18; “Z”; TAB 18

3 “M?; TAB 28; “Q”; LF 1

FOR V=0TO Ux10 STEP 2

V1= V/10/SR

USING “ii#, 44”7

LPRINT TAB 5; INT(V1#100

+.5)/100

USING “Hiiis 447 '

LPRINT TAB 15; INT (MY

(V/2)#100 +.5)/100; TAB 255

INT (QY(V/2)=100) /100

NEXT V

USING: LF 1

LPRINT TAB 6;“Mai Moment
MM="; INT ¢ MA#160+.5)/

100, LF 1

LPRINT TAB 6; “Position —

ZH =73 TNT ¢ ZH100 + .5)/100

100; LF 1 '

LPRINT TAB 6; “Displacment
X0="; INT (X0#100000+ .5

27100000

LPRINT TAB 18; “XA="

INT (XA%100000 +. 5 Y/100000

: LF 1

LPRINT TAB 65 “ Rotation

Q0=7;INT (Q0+100000
+.5)/100000 . ;
LPRINT TAB 18; “QA=",

=iz~

979: LPRINT TAB 6;“MAX

980; LPRINT ¢

INT
LF 2

(QA=100000+ ,5)/100000..

Earth
Pressur QQ=7"; INT (QQ=100

Y/100

Position

'ZQ=; INT (ZQ=100)/100

982; USING

990 CHAIN “AB-27, 990

2995: REM “Ai Bi Ci Di (i=1:-4)

s Computer” L

3000: AD(1)=1- V1A5/K2(5) £ 64V1Lr
10/K2(10) ~ 66#V1A15/K2(15) +
1056#V1420/K2(20)

3005: AD(1) = AD(1) - 22176% V1r20/
K2(20)

3010: AD(2)=V1i-24V1a6/K2 (6) + 14
#V1A11/K2(11).— 168V1A 16/K2,
(16)

3015: AD(2) = AD(2) +2856%V1A21/K2
(21) ~ 62832 V1r26/K2(26).

3020: AD(3) = V142/2 - 3« V1 AT/K2(T)
+24%V1A12/K2(12) : ,

3025: AD(3) =AD(3)~-312¢V1 A17/K2
(17) +5616%V1422/K2(22) ~ 1291
68#V1A27/K2(27)

3030: AD(4) = VIr3/6—4eV1A8/K2 (8)

3035,

3040,

3045;

3050,

+36#%V.1213/K2(13) — 504V 14 18
JK2(¢18) _
AD(4) = AD(4) + 95765V1423/K2
(23) —229824%V1428/K2(28)
AD(5) = = V1a4/K2 (4) +62V1A9
JK2(9) = 66+ V1Ia14/K2(14) + 726
#V1A19/K2(19)

AD(5) = AD(5)— 152464V 1424/
K2(24)

AD(6) = 1L.-25VI1a5/K2¢5).+ 14 %
VIr10/K2(10) — 1688 V1A15/K2

&



£
w¥

3065;

-3070;

3075,

3080;

"3085;

3090,

3095,

3100;

-3105;

3110;

3115;

3120

3125,

(15) + 3828%V1A20/K2(20) |

. AD(6) = AD(8) ~ 91728V 1425/

K2(25)
AD(7)=V1-32V1A6/K2(6 ) + 24
#*V1A11/K2(11) ~ 3126V 1r16/K2(
16) +5616%V1A21/K2(21) »
AD(7) = AD(7)— 134784#V126/

K2(26)

AD(8) = V14272 = 4sVIAT/K2(7)
+386%V1r12/K2(12) ~ 5048 V1IAl7
/K2(17)

AD(8) = AD(8) +95762V1422/ K
2(22) ~ 229824%V1A27/K2(27)
AD(9) = - V1#3/6.+ 6+V1A 8/ K2
(8) - 66%V1n13/K2(13) + 1056%
V1r18/K2(18)

AD(9) = AD(9) - 22176%V 1423/
K2(23)

AD(10) = - 2#V1r4/24+ 14 V1 A
9/K2¢9) — 168*V1A14/K2(14) +
2856xV1219/K2(19)

AD(]10) = AD(10) —62832#VIA24
/K2(24) '
AD(11) =1 - 3#V1A5/K2(5) +24#
V1r10/K2(10) — 312¢V1a15/K2
(15) +5616#%V1420/K2(20).
AD(11) = AD(11)— 129168%Vn

25/K2¢25)

AD(12) = V1 -4*%V1r6/K2(6) +3
6#V1411/K2(11) - 504%V1416/K2
(16) +9576%V1a21/K2(21)
AD(12) = AD(12) — 229824 V1A
26/K2(26)

AD(13) = = V1A2/2 +6#V1AT /K. (
7) ~ 66%V1r12/K2(12) + 1056% V1
ALT/K2(17)

AD(13) = AD(13) —221763V1a
22/K2(22)

3130,

3135

3140;

3150;

3160:

3170:

3230;
3240;
3250,

3260:

3270;

3275;
3280;
3285:
3290;

3300,

3310:

3320;

AD(14) = — 2%V1A3/6 + 14%V1 A8
/K2(8) ~ 168%¥V1a13 /K2(13) +
2856%V1418/K2(18)

AD(14)%= AD(14) —62832%V1423

/K2(23)

AD(15) = = 34V 1A4/24 + 245 V1A

9/K2(9) —~ 3125V1A14/K2(14) +
5616#V1A19/K2(19)

AD(15) = AD(15)~ 129168%V1a

24/K2(24)

AD(16) =1 - 49V1A5/K2(5) + 36%

V1A10/K2 (10) ~504¢V1A15/K2 ¢
15) + 9576+V1420/K2(20)
AD(16) = AD (16) —229824.% V1a
25/K2(25)

IF C=0THEN 3275

IF INT (C/10)=1THEN 3280
Ul=AD(6)*AD(4) — AD(2)*AD
(8): U2=AD(5)*AD(4) - AD(1
Y*AD(8) *
U3=AD(6)*AD(3) - AD(2)*AD
(7): U4=AD(5)«AD(3) - AD
(D#AD(T)

‘U5s=AD (5)*AD(2) — AD(1)#AD

(6): GOTO 3340

KH=0: GOTO 3290

IF ZS>3.5THEN LET KH=0
KH= M/(SR+EH)
Ul=AD(10)*AD(16) — AD(14)#
AD(12) + KH#(AD(6)#*AD(16 )-
AD(14)#AD(8))
U2=AD(9)*AD(16) - AD(13)*
AD(12) +KH=#(AD (5)*AD(16)
-AD(13)*AD(8))
U3=AD(10)*AD(15) = AD(14)%
AD(11) +KH=#(AD(6)*AD(15) ~
AD(14)#AD(7))
U4=AD(9)*AD(15) = AD(13) #

—13—



